normalized X?

< x2/ndf >

Ratio

< x2/ ndf >

Ratio

[ normalized x? probability |

Ratio

0.06
0.05 -
0.04]
0.03I—--;l
0.02

Prob(x?)

0 2 4 6 8 10 12 14 16 18 20
2
m=m== DQM_V0001_R000000001__Global__mkFit_baseline
e DQM_V0001_R000000001__Global__mkFit_jcore50maxCand-24DUPremoval-1000
w=m== DQM_V0001_R000000001__Global__mkFit_jcore50maxCand-24DUPremoval-1000-2
2.5
2
1.5
i .
J .
o.leI .
L . -
0! : t t t
1.05 - -]
11t N r
0.95 114 -
09 ] ] A !
-3 -2 -1 0 1 2 3
n
N
B
c
o
>
v

Ratio




	Contents
	Page 1


